HSBR Al2|= ZF47]
HSBR SERIES GEARBOX - PRODUCT SPECIFICATIONS

@ &3 AJZE Qutput shaft
@ 224 0il seal
£2{ \JLE MM 02! Output shaft front bearing
@ 94 710] Planetary gear
® EiY 7|0] Solar wheel
® ™H ZIH Front cover
£ AJZE S H|0{2! Output shaft rear bearing
® ZH HE Adjusting nut
9 =S¢ Y22 ZHEE H0{2! Double row angular contact bearir
@0 EHZ ™ 7|0 Output bevel gear
@ Z1234 BA Right angle box
© UHE H™ 710§ Input bevel gear
®@ 23YE Lock nut
@ L= 71E2 Input coupling
@ ™I Locking device
@® ™ E7H Rear cover

W tHHEE Sectional View

Il Z£7| s HIo|E] Reducer Performance Data

4 Tt 2|
Speciications et | T et 60HSBR 90HSBR 115HSBR 142HSBR 180HSBR 220HSBR
3 36 90 195 342 588 1140
4 48 120 260 520 1040 1680
5 60 150 325 650 1200 2000
6 55 150 310 600 1100 1900
. 7 50 140 300 550 1100 1800
8 45 120 260 500 1000 1600
9 40 100 230 450 900 1500
10 40 100 230 450 900 1500
14 42 140 300 550 1100 1800
20 40 100 230 450 900 1500
2 60 150 325 650 1200 2000
30 55 150 310 600 1100 1900
B} 35 50 140 300 550 1100 1800
YA ET T il 40 45 120 260 500 1000 1600
45 40 100 230 450 900 1500
50 40 100 230 650 1200 2000
60 55 150 310 600 1100 1900
) 70 50 140 300 550 1100 1800
30 45 120 260 500 1000 1600
90 40 100 230 450 900 1500
100 40 100 230 450 900 1500
120 55 150 310 600 1100 1900
140 50 140 300 550 1100 1800
160 45 120 260 550 1000 1600
180 40 100 230 450 900 1500
200 40 100 230 450 900 1500
HIA B ET T, Nm 1,2 3~200 HA =2 EF9| 3HY
FEREETTN rpm 1.2 3~200 3000 3000 3000 3000 3000 2000
A Q3 26n, rpm 1.2 3~200 6000 6000 6000 6000 6000 4000
. 1 3~20 <2 <2 <2 <2 <2 <2
S A Ph arcmin 2 25200 <4 <4 <4 <4 <4 <4
. 1 3~20 <4 <4 <4 <4 <4 <4
B Al P aremin 2 25~200 <7 <7 <1 <1 <7 <1
. 1 3-20 <6 <6 <6 <6 <6 <6
HE A P1 aremin 2 25~200 <9 <9 <9 <9 <9 <9
HEZ 24 Nmy/arcmin 1,2 3-200 7 14 25 50 145 145
2 j0|C|Y B[EF,, N 1.2 3~200 1530 3250 6700 9400 14500 50000
> RHISEGIEF,, N 1.2 3~200 765 1625 3350 4700 7250 25000
PN hr 1,2 3~200 20000°
. 1 3~20 >97%
n 2 2 25~200 >04%
s K 1 3~20 2.1 6.4 [ 13 [ 245 51 51
2 25~200 3.0 7.8 | 142 | 215 54 95
25 °C 1.2 3~200 -10°C~+90°C
1.2 3~200 51 QB0
=] 12 3~200 P65
a5 1.2 3~200 00| tif5E
(616“/ @ 3000rpm, dB(A) 12 3~200 <63 <65 ‘ <68 ‘ <70 <72 <72

05



B Z£7| 2 BHE Moment Of Inertia Of The Reducer

74 H A
Specifications Node Nimber | Reduction Ratio 60HSBR 90HSBR 115HSBR 142HSBR 180HSBR 220HSBR
3~10 0.35 2.25 6.84 234 68.9 68.9
1 14 0.07 1.87 6.25 21.8 65.6 65.6
37 A, Kg-cm? 20 0.07 1.87 6.25 21.8 65.6 65.6
) 25~100 0.35 0.35 6.25 21.8 65.6 65.6
120~200 0.31 031 6.25 21.8 65.6 65.6
1. 4&H[(i=N/N,,) 2. Z|t 7t EF T,,=60% of T,,,,; 3. 4 AHLE AMO|0f| 2ot 2|1 -4 100rpm O[5HY T
4. A% 2T, ALE4E 10000hrs 5. Z4H| ¥ 2 ZE0| [E OFEE HEAl 47 H2HE.

x|+ Cllo|E| (&=, Zr£H] i=3~20)
DIMENSIONS (SINGLE STAGE, REDUCTION RATIO i=3~20)

M |4 =™ Dimensional Drawing

212 Input =3 Output
»Cs
Jolex]
o [7=)
“lle o
3
| /A L2 M M
c2 ®C1 D80 L3
[ L5 . 1.L6 ®D2
3 F : o
— f &
{ 258
s1°e
2 ~®D1
VID | L4 ~®D7
L7
L8 K]
(2]
z D6(Z0)L9
H1
M X|4= B Dimensional Table [E+2] Unit: mm]
A0 = Size 60HSBR 90HSBR 115HSBR 142HSBR 180HSBR
D1 70 100 130 165 215
D2 5.5 6.6 9 1 13
D3 10 16 22 32 40 55
D4 50 80 110 130 160
D5 45 65 95 75 95
D6 M5 x0.8P M8x1.25P M12x1.75P M16x 2P M20x2.5P
D7 80 116 152 185 240
L1 60 90 115 142 180
L2 37 48 65 97 105
L3 7 10 12 15 20
L4 1.5 15 35 3 3
L5 25 32 40 63 70
L6 2 3 5 5 6
L7 6 8 10 12 15
L8 145 203 259 333 394
L9 12,5 19 28 36 42
ct’ 70 100 130 165 215
c2' M5 x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
C3'es *<14/<16 <19/<24 <32 <38 <48
c4' 30 40 50 60 85
C5'a 50 80 110 130 180
c6' 8 4 5 6 6
c7' 60 90 115 142 190
cs' 19 17 19.5 225 29
[ 115 152.5 1915 235.5 3035
c1o’ 135 10.75 13 15 20.75
B1 1 5 6 10 12 16
H1 18 24.5 35 43 59

*60HSBR b, 10 Z4£H| C3<16 ME{ 7158



%|%: HlOJE (T

= AL
=45

H| i=25~200)

DIMENSIONS (DOUBLE STAGE, REDUCTION RATIO i=25~200)

I X|4= =™ Dimensional Drawing

12 Input =3 Output
®D5G6
®C3G6
[T=]
A (3]
S ‘ g S
'—P% 13 3
T ] L5 L6 ®D2 07
[ol) ] oc1 ] [] - o = =
3 aN 5 3 & | L
(0)
e N 22
(=] [=] =]
81 8 6
P P
AL e é:l ] 3 ,
7 || A g
L4
L7
oc7 L8 [k
DB(20)L9
2
@ i
H1
B X|£ & Dimensional Table [SHQ] Unit: mm]
AO|= Size 60HSBR 90HSBR 115HSBR 142HSBR 180HSBR 220HSBR
D1 70 100 130 165 215 250
D2 55 6.6 9 11 13 17
D3k 16 2 32 40 55 75
D4 w 50 80 110 130 160 180
D5 45 65 95 75 95 115
D6 M5 x0.8P M8x1.25P M12x1.75P M16x2P M20x2.5P M20x2.5P
D7 80 116 152 185 240 292
L1 60 90 115 142 180 220
12 37 13 65 97 105 138
L3 7 10 12 15 20 30
L4 15 15 35 3 3 3
L5 25 32 40 63 70 90
L6 2 3 5 5 6 7
] 6 8 10 12 15 20
18 170 206.5 285 365 394 521
L9 125 19 28 36 42 42
c1 70 70 100 130 165 215
2 M5 x0.8P M5 x0.8P M6x 1P M8x1.25P M10x1.5P M12x1.75P
e <14/<16 <14/<16 <19/<24 <32 <38 <48
c4 34 34 40 50 60 85
C5 50 50 80 110 130 180
C6 8 8 4 5 6 6
c7 60 60 90 115 142 190
c8 19 19 17 195 2.5 29
c9 11 126.5 165 205 2545 3235
c10 135 135 10.75 13 15 20.75
Bl 5 6 10 12 16 20
H1 18 24.5 35 43 59 79.5

07



